

# Timber sales

## Tender of standing timber & logs



been certified in accordance with the rules of the Forest Stewardship Council®

Forestry England woodlands have





To be opened on:

### forestryengland.uk

#### FORESTRY ENGLAND NATIONAL TIMBER TENDERS GENERAL CONDITIONS OF SALE

1. The Forestry Commission, acting through Forestry England (hereinafter referred to as Forestry England)Electronic Sales System (e-sales) is the only way of submitting a Tender offer. To register for e-sales please go to the webpage <a href="https://england.etimbersales.net/">https://england.etimbersales.net/</a> or contact Josie Sterling at the address below.

2. All tender offers must be submitted through the e-sales system by 12.30 on 5<sup>th</sup> September 2019. Tenders cannot be submitted into e-sales after this time. It is the responsibility of the Tenderer to ensure that their tender offers have been submitted before the Tender closes to bids.

Please note checks are made by the Forestry England during the registration process and you should allow plenty of time for these checks to be made.

3. The sale of the Lots offered at this tender is subject to the conditions in this tender catalogue and the Lots sold will be the subject of a separate Standard Contract and Conditions of Sale, specimens of which may be obtained from the Operations Team at the address below, and which will be available for scrutiny at Forest District Offices listed on Pages 5.

Forestry England 620 Bristol Business Park Coldharbour Lane Bristol BS16 1EJ Telephone: Bristol 0300 067 4130

4. The Tenderer shall be deemed to have acquainted themself with the terms and conditions of the sale before making their offer. It should be noted that the amount offered is to be shown as either a lump sum, a price per m<sup>3</sup> underbark or a price per tonne, whichever is applicable as detailed on the Tender schedule. Successful purchasers will be responsible for payment of any weighbridge fees concerned.

5. All bids shall be exclusive of Value Added Tax, which shall be added to the purchase price of each Lot at the appropriate rate.

6. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed. In all other respects the Tenderer is held as satisfying themself as to the description of the Sale Lots.

7. No Lot carries entitlement to the offer of continuity of supplies of timber outside the Terms and Conditions of the Contract.

8. The Seller reserves the right to withdraw Lots at any time.

9. The operative dates and instalment dates of Standing Sales Agreements are as stated. The dates of commencement and of completion of contracts for forest products at roadside will be as indicated against each Lot in the catalogue.

10. Where a Purchaser buys more than one Lot the Purchaser or the Seller may request that the timing of the commencement and completion of one or more of the contracts be rescheduled. This will be at the sole discretion of the Seller but agreement will not be unreasonably withheld.

11. Payment conditions are as stated in the Sale Contract referred to in 3 above. The Purchaser's attention is drawn to the clause in the specimen contracts which describes the normal terms of trading. Application of these terms, which is at the sole discretion of the Seller, is subject to establishment of satisfactory credit-worthiness.

12. The Seller's normal terms of payment for credit sales of forest products at roadside are that 'payment shall be made not later than the end of the calendar month following the month of despatch', but also see Clause 11 above.

13. A deposit, in accordance with Section 8 of the Standard Contract referred to in 3 above, will be charged on all environmentally-sensitive sites as denoted in the tender catalogue.

14. Arrangements to inspect the Lots should be made direct with the Forest District concerned. Contact details and addresses are given on page 7 below. Purchasers will be deemed to have acquainted themselves with arrangements for access, special conditions and constraints, if any, in respect of each Lot prior to tendering, details of which are available from the Forest District staff. Purchasers will be bound by these special conditions.

15. There is a presumption that the contracts will commence on the dates stated and Time will be the of essence.

16. Where a Purchaser buys a number of Lots, the Seller may amalgamate them into as few contracts as is appropriate in order to reduce transaction costs.

17. An agreed weight/volume conversion factor based upon sample loads will be applied to weighed loads. Purchasers will be responsible for payment of the weighbridge fees concerned.

18. Cross-cutting Charge – Sawlogs are offered as random lengths within the range specified against each Lot in the catalogue. A charge may be made to recover the additional costs incurred in meeting purchasers' requests for cutting to their specified lengths, as explained in the Forestry Commission publication 'Classification and Presentation of Softwood Sawlogs'.

#### 19. Standing Sales with Reserved Timber Element (RTE) These conditions apply to Lot 1.23- 1.26 Yorkshire Forest District

The Seller offers the above Lots on a price per tonne basis with the retention of ownership of a quantity of timber to the specification as detailed in the Contract schedule, delivered to and stacked at specified / agreed points at forest roadside. The quantity thus retained is detailed under the lot description in the catalogue.

#### Example of Sales with Reserved Timber Element (RTE):

Lot X is a 4500t standing sale with 500t of timber reserved.

Purchaser is actually buying 4000t of the total quantity on site, yet the price per tonne for that timber will include the harvesting and extraction to roadside of the 500t of reserved timber. N.B. A single price per tonne is required for the Lot.

Tenderers for these lots are advised to contact the Operations Manager at Yorkshire FD (contact details on page) to discuss the requirements and to see a worked example before bidding.

20. If Tenderers do not wish to purchase more than a given quantity then that quantity should be specified as a condition to the offer made by stating their overall 'volume limit' in the box provided on eSales, however, please note that Lots will not be split. The selection of Lots to be sold to the Purchaser within the stated quantity will be at the discretion of the Seller.

21. The Seller shall not be bound to accept the highest or any tender offer, and shall be entitled to accept a tender offer as a whole or only in respect of one Lot or a number of Lots within the tender offer

22. All timber on offer in this sale is covered by the certification code **SGS-FM/COC-010297** issued under the QUALIFOR Programme by SGS Qualifor.

#### BIOSECURITY

Following significant outbreaks of tree diseases including Dothistroma disease of pine (Red Band Needle Blight), Ramorum disease of Larch (Phytophthora), Acute Oak Decline, and Chalara disease of ash, the Forestry Commission has issued biosecurity guidelines to support its Tree Health Strategy. Those working in woodlands can help reduce the inadvertent spread of these and other pests and diseases by practicing biosecurity at all times. Please let us know if you observe any potential symptoms of disease or insect pests whilst visiting our woodlands.

Biosecurity policy and practice guidelines are covered fully on the Forestry Commission web site at <a href="https://www.gov.uk/guidance/prevent-the-introduction-and-spread-of-tree-pests-and-diseases">https://www.gov.uk/guidance/prevent-the-introduction-and-spread-of-tree-pests-and-diseases</a>

In summary we have two biosecurity risk levels – 'High Risk' where a controlled pest or disease is known to be present and 'Low Risk' for everywhere else. There are no Zero Risk areas. We ask anyone inspecting **any** parcel offered for sale by the Forestry England n to please make themselves familiar with our biosecurity guidelines and observe them.

Low Risk.

- Avoid driving into the woodland at all if possible. Otherwise, please keep road vehicles on metalled, drained roads and knock or brush off any deposits of mud and organic debris around the wheels or bodywork are <u>before</u> leaving any woodland.
- Please brush your footwear clean of soil, mud and organic debris before getting back into a vehicle or leaving the woodland.

#### <u>High Risk</u>

- We will make it clear if a parcel has a High Biosecurity Risk when we offer it for sale.
- You must not visit this site without contacting us first. You will then need to abide by the additional control measures that we will stipulate.

#### FORESTRY ENGLAND FOREST DISTRICT CONTACTS

Lot inspection arrangements can be made by contacting the appropriate District staff, as detailed below

#### North England Forest District

Contact: Neil Gibson (Operations Manager- Harvesting & Marketing) Eals Burn Bellingham Hexham Northumberland NE48 2AJ Tel: 0300 067 4229 e-mail: neil.j.gibson@forestryengland.uk

#### Yorkshire Forest District

Contact: Jon Bates (Operations & Planning Manager) Outgang Road Pickering North Yorkshire YO18 7LT Tel: 0300 067 4307

e-mail: jon.bates@forestryengland.uk

#### **Central Forest District**

Contact:Carolyn Marshall (Operations & Environment Manager)Sherwood Pines Forest ParkOld ClipstoneNr MansfieldNottsNG21 9JLTel: 0300 067 5451e-mail: carolyn.marshall@forestryengland.uk

#### East England Forest District

Contact: Gareth Jones (Operations Manager- Harvesting) Thetford Forest Park Santon Downham Brandon Suffolk IP27 0AF Tel: 0300 067 4503 e-mail: gareth.jones@forestryengland.uk

#### South England Forest District

Contact: Simon James (Operations Manager- Harvesting & Marketing) The Queen's House Lyndhurst Hampshire SO43 7NH Tel: 0300 067 4657 e-mail: simon.james@forestryengland.uk

#### West England Forest District

Contact: Adam Drew (Operations Manager- Harvesting & Marketing) Bank House Bank Street Coleford Gloucestershire GL16 8BA Tel: 0300 067 5802 e-mail: adam.drew@forestryengland.uk

#### SPECIES CODES AND ABBREVIATIONS

DE		Paaab
BE	-	Beech Red Oak
ROK	-	
BI OK	-	Birch
LI	-	Oak
MB	-	Lime Mixed Broadloover
	-	Mixed Broadleaves
SP	-	Scots Pine
CP	-	Corsican Pine
MAP	-	Maritime Pine
EL	-	European Larch
LP	-	Lodgepole Pine
RAP	-	Monterey Pine
BIP	-	Bishop Pine
JL	-	Japanese Larch
HL	-	Hybrid Larch
OMS	-	Omorika Spruce
NS	-	Norway Spruce
SS	-	Sitka Spruce
MS	-	Mixed Spruces
DF	-	Douglas Fir
GF	-	Grand Fir
JCR	-	Japanese Cedar
RC	-	Western Red Cedar
WH	-	Western Hemlock
LC	-	Lawson Cypress
LEC	-	Leyland Cypress
MC	-	Mixed Conifer
WCH	-	Wild Cherry
SC	-	Sweet Chestnut
ESF	-	Silver Fir
WEP	-	Weymouth Pine
PO	-	Poplar
AH	-	Ash
CAR	-	Common Alder
NF	-	Noble Fir
MP	-	Mixed Pine
SY	-	Sycamore
NOM	-	Norway Maple
RON	-	Nothofagus obliqua
OBN	-	Nothofagus obliqua (Mirb.) Blume
RAN	-	Nothofagus nervosa
RSQ	-	Coast Redwood
WSQ	-	Wellingtonia
XF	-	Other Firs
Vol (OB)	-	Volume overbark
Vol (UB)	-	Volume underbark
td (UB)	-	top diameter underbark
cu m	-	cubic metre
cm	-	centimetres
ha	-	hectare
m	-	metre
dbh	-	diameter at breast height

#### PARTICULARS OF SALE

#### **Standing Sales**

Lots 1.01-1.05, 1.07 - 1.26 will be sold on a price per tonne basis. Lot 1.06 will be sold on a lump sum basis.

Where indicated in the Catalogue as "Full Tariff", marking and measurement have been carried out in accordance with Section 4.2 page 69 of the "Forests Mensuration Handbook" using Tariff Tables. Where indicated in the Catalogue as "Abbreviated Tariff", marking and measurement have been carried out in accordance with procedures set out Section 4.3 page 88, of the "Forests Mensuration Handbook"

#### <u>Sawlogs</u>

Lots 2.01 - 2.03 and 2.07-2.19 will be sold on a price per tonne basis. Lots 2.04 - 2.06 will be sold for a price per cubic metre under bark.

The volume of the timber will be calculated from the weights of the loads supplied converted to volume using volume/weight conversion factors obtained from measurements of the volumes of sample loads on a 1 in 5 basis or any other ratio which may be agreed between the purchaser and seller. The volume of sample loads will be obtained by the methods laid down in Part III of Forestry Commission Booklet 39 "Forest Mensuration Handbook".

#### **Tariff Methods**

A2/1	Abbreviated Tariff: Step 1 Method A, Step 2 Method 2: GSF 1
A4/1 A4/2 A4/4 A4/6 A4/8 A4/10 A4/12 A4/15 A4/40	Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 1 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 2 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 4 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 6 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 8 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 10 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 12 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 12 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 15 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 15 Abbreviated Tariff: Step 1 Method A, Step 2 Method 4; GSF 40
A5/1 A5/2 A5/4 A5/6 A5/8 A5/10 A5/25	Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 1 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 2 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 4 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 6 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 8 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 10 Abbreviated Tariff: Step 1 Method A, Step 2 Method 5: GSF 10
B6	Abbreviated Tariff: Step 1 Method B, Step 2 Method 6
NA	Non-Standard method; contact Forest District for details

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.01	CENTRAL ENGLAND	Thinning							23/09/19 to	£
	Sherwood Pines- North		CP	1276	432	2.954	50	A4/4	31/03/20	
			CP	673	1605	0.419	24	A4/15		
			CP	620	4130	0.150	16	B6		Per tonne
	F52661		CP	500	1056	0.474	25	A4/8		
			CP	434	3440	0.126	16	A4/40	Estimated weight 36	600 tonnes
			SP	145	700	0.207	20	A4/4		
			CP	115	98	1.178	36	A4/1		
			CP	77	112	0.685	29	A4/1		
			CP	72	40	1.810	41	A4/1		
			SP	72	348	0.207	20	A4/2		
			CP	47	32	1.475	38	A4/1		
			SC	14	102	0.135	18	A5/1		
			CP	11	40	0.275	22	A4/1		
			SP	8	33	0.233	22	A4/1		
				4064	12168	0.334				

Forestry England

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)			
1.02	CENTRAL ENGLAND	Thinning							23/09/19 to	£			
	Wakerley - Corby		EL	434	306	1.420	41	A4/2	31/03/20				
			CP	286	284	1.006	34	A4/2					
			DF	248	110	2.258	49	A4/1		Per tonne			
	F52676		AH	136	684	0.198	17	A5/6					
			SP	105	412	0.254	21	A4/4	Estimated weight 1463 tonnes				
			CP	102	156	0.656	28	A4/1					
			EL	65	179	0.365	23	A4/1					
					BI	64	580	0.110	16	A5/4			
			SP	55	46	1.185	40	A4/1					
			CP	54	38	1.424	42	A4/1					
			OK	41	33	1.236	37	A5/1					
						BI	37	388	0.096	14	14 A5/2		
			BI	36	66	0.547	28	A5/1					
					NS	27	43	0.626	30	A4/1			
			BI	21	102	0.209	19	A5/1					
			OK	21	37	0.554	28	A5/1					
			AH	17	15	1.100	35	A5/1					
			NS	9	51	0.176	18	A4/1					
				1758	3530	0.498							

Forestry England

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.03	CENTRAL ENGLAND	Thinning							19/09/19 to	£
	Pleasley Park-Sherwood North		SP	344	308	1.115	37	A4/2	31/03/20	
			SP	239	190	1.255	39	A4/1		
			BI	214	262	0.815	30	A5/2		Per tonne
	F52678		AH	188	1168	0.161	17	A5/8		
			JL	135	96	1.402	43	A4/1	Estimated weight	t 1364 tonnes
			SY	134	1090	0.123	17	A5/10		
			SY	99	476	0.207	20	A5/4		
			SP	90	68	1.322	41	A4/1		
			SY	69	292	0.236	21	A5/2		
			JL	63	45	1.398	41	A4/1		
			JL	61	36	1.694	46	A4/1		
			RC	11	90	0.122	17	A4/1		
			SP	10	10	1.040	38	A4/1		
				1657	4131	0.401				

Forestry England

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.04	CENTRAL ENGLAND	Clearfell							19/09/19 to	£
	Whitefield- Delamere	5% windthrow	CP	780	730	1.068	36	B6	31/01/20	
			CP	595	182	3.269	52	A4/1		
			JL	492	92 396 1.242 37 B6		Per tonne			
	F52679		CP	446	1500	0.297	21	A4/15		
			JL	441	248	1.778	43	B6	Estimated weigh	it 3372 tonnes
			CP	247	372	0.664	28	A4/4		
			CP	202	381	0.530	26	B6		
			SP	184	127	1.449	41	B6		
			CP	145	503	0.288	21	B6		
			CP	106	1716	0.062	12	B6		
			HL	103	100	1.030	32	A4/1		
			JL	99	81	1.222	37	A4/1		
			CP	72	218	0.330	22	B6		
			CP	48	318	0.151	17	A4/3		
			CP	37	61	0.607	29	B6		
				3997	6933	0.577				

Forestry England

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.05	CENTRAL ENGLAND	Thinning							19/09/19 to	£
	Willingham South-Market Rasen		CP	515	408	1.263	34	A4/4	31/01/20	
			CP	235	214	1.099	34	A4/2		
			CP	196	158	1.239	37	A4/2		Per tonne
	F52680		BI	188	984	0.191	18	A5/6		
			CP	182	492	0.369	22	A4/4	Estimated weight	t 1427 tonnes
			SP	144	200	0.719	31	A4/2		
			SP	109	122	0.889	34	A4/1		
			CP	35	113	0.306	20	A4/1		
				1604	2691	0.596				

1.06	EAST ENGLAND	Thinning						16/09/19	£
	Borley - Suffolk		CP	943	1000	0.943	34 A4/10	to 29/11/19	
			AH	48	212	0.226	19 A5/2		
	F52699			991	1212	0.818			Lump Sum
	2 instalments due: 16/SEP/	19 21/OCT/19							

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

#### TENDER FORM FOR STANDING TREES 05 September 2019

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.07	EAST ENGLAND	Thinning							09/09/19 to	£
	Abbots Wood- East Sussex		CP	1373	1439	0.954	33	A4/12	27/03/20	
			OK	1189	2524	0.471	28	A5/25		
			CP	1095	1111	0.986	32	A4/10		Per tonne
	F52710		CP	815	630	1.294	38	A4/6		
			CP	549	3636	0.151	17	B6	Estimated weight	5134 tonnes
			SP	145	1768	0.082	15	B6		
			JCR	103	134	0.769	40	A2/1		
			OK	96	182	0.527	28	A5/1		
			RC	94	187	0.503	33	A4/1		
			CP	92	380	0.242	21	A4/1		
			GF	66	76	0.868	33	A4/1		
			DF	47	37	1.270	40	A4/1		
			LC	36	68	0.529	31	A2/1		
			SP	32	244	0.131	17	A4/1		
			SP	14	24	0.583	30	A4/1		
				5746	12440	0.462				

Forestry England

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.08	NORTH ENGLAND	Clearfell							23/09/19	£
	Archercleugh - East Kielder		SS	5170	5119	1.010	31	B6	to 28/02/20	
			SS	2437	6119	0.398	22	B6		
			SS	684	589	1.161	32	B6		Per tonne
	F52673		SS	474	156	3.038	55	B6		
				8765	11983	0.731			Estimated weigh	nt 7068 tonnes
.09	NORTH ENGLAND	Thinning							30/09/19 to	£
	Ravenshill - East Kielder		SS	1103	1492	0.739	29	B6	31/01/20	
			SS	185	115	1.609	40	A4/2		
			NS	112	141	0.794	27	A4/4		Per tonne
	F52700		SS	54	176	0.307	20	B6		

Forestry England

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

1454

1924

0.756

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.10	NORTH ENGLAND	Thinning							30/09/19 to	£
	Stone Raise - High Stand		SP	1687	2102	0.802	31	B6	30/04/20	
			SS	626	5203	0.120	15	B6		
			HL	622	3184	0.195	15	B6		Per tonne
	F52706		CP	327	376	0.871	31	B6		
			BI	152	1034	0.147	16	B6	Estimated weight	3037 tonnes
			EL	59	33	1.773	40	B6		
			CAR	43	206	0.210	18	B6		
			DF	42	600	0.070	13	B6		
			BE	6	67	0.088	15	B6		
			SY	5	16	0.301	22	B6		
				3569	12821	0.278				

**Forestry England** 

**TENDER FORM FOR STANDING TREES 05 September 2019** 

Volume details have been grouped over all coupes to facititate entry into system. Please refer to Compartment Data for detailed sub compartment data.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

	TENDER FORM FOR STANDING TREES 05 September 2019											
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)		
1.11	SOUTH ENGLAND	Thinning							23/09/19 to	£		
	Wilverley- Nr Sway		CP	61	1068	0.057	12	B6	24/12/19			
			CP	23	756	0.030	10	B6				
	F52667			84	1824	0.046				Per tonne		
									Estimated weigl	ht 74 tonnes		

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.12	SOUTH ENGLAND	Clearfell							23/09/19 to	£
	Norley - Nr Beaulieu		CP	375	122	3.074	58	A4/1	24/12/19	
			DF	330	306	1.078	36	A4/1		
			CP	328	146	2.247	52	A4/1		Per tonne
	F52669		SP	296	350	0.846	36	A4/1		
			BE	132	164	0.805	35	A5/1	Estimated weight	1408 tonnes
			CP	46	1225	0.038	11	B6		
			SP	43	39	1.103	40	A4/1		
			DF	30	380	0.079	13	B6		
			SS	28	20	1.400	43	A4/1		
			OK	22	54	0.407	28	A5/1		
				1630	2806	0.581				

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

#### TENDER FORM FOR STANDING TREES 05 September 2019

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.13	SOUTH ENGLAND	Thinning							16/09/19	£
	Grovely- Nr Salisbury		BE	1446	3870	0.374	24	A5/1	to 31/03/20	
			ML	210	272	0.773	33	A4/1		
	F52684			1656	4142	0.400				Per tonne
									Estimated weigh	nt 1501 tonnes
14	SOUTH ENGLAND	Thinning							16/09/19	£
	Blackwood- Micheldever	-	AH	710	1288	0.551	30	B6	to 24/12/19	
			AH	456	680	0.671		B6	21,12,10	
			AH	438	510	0.859				Per tonne
	F52711		AH	242	145	1.669	41	B6		rei tonne
				1846	2623	0.704			Estimated weigh	nt 1290 tonnes

Forestry England

Most trees in this contract are affected with Ash dieback disease; additional felling safety measures will be required.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.15	SOUTH ENGLAND	Clearfell							16/09/19 to	£
	Queen Elizabeth Country Park		AH	1240	1752	0.708	30	B6	31/03/20	
	Petersfield		BE	993	1037	0.957	33	NA		
			AH	686	1028	0.668	33	NA		Per tonne
	F52745		AH	669	14325	0.047	11	B6		
			AH	267	250	1.067	36	B6	Estimated weight 3	567 tonnes
			AH	233	10725	0.022	9	B6		
			AH	223	2374	0.094	13	B6		
			AH	153	3535	0.043	12	B6		
			AH	126	507	0.249	20	B6		
			AH	78	182	0.430	25	B6		
			AH	60	35	1.706	60	B6		
			AH	33	1502	0.022	9	NA		
			AH	17	27	0.611	29	B6		
				4778	37279	0.128				

Forestry England

Most trees in this contract are affected with Ash dieback disease; additional felling safety measures will be required.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

							-			, <b>5</b>
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.16	WEST ENGLAND	Thinning							11/11/19	£
	Well Wood- Marches		DF	1021	720	1.418	37	B6	to 28/02/20	
				1021	720	1.418				_
	F52668									Per tonne
									Estimated weigh	nt 773 tonnes
1.17	WEST ENGLAND	Thinning							04/11/19	£
	Kennisham - Somerset		SS	1229	7229	0.170	16	NA	to 30/04/20	
			SS	1183	1497	0.790	30	NA		
			SS	865	1395	0.620	26	NA		Per tonne
	F52671		SS	613	2114	0.290	19	NA		
			SS	596	8520	0.070	11	NA	Estimated weigh	nt 4412 tonnes
			SS	375	2885	0.130	15	NA		
			SS	314	873	0.360	21	NA		
			SS	296	154	1.920	43	NA		
				5471	24667	0.222				

Forestry England

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.18	WEST ENGLAND	Thinning							04/11/19 to	£
	Croydon South - Somerset		SS	941	7840	0.120	14	NA	30/04/20	
			SS	868	499	1.739	39	NA		
			DF	815	3883	0.210	17	NA		Per tonne
	F52672		SS	776	1437	0.540	25	NA		
			SS	588	423	1.390	37	NA	Estimated weight 4	573 tonnes
			DF	489	1222	0.400	22	NA		
			SS	330	6608	0.050	10	NA		
			SS	185	299	0.619	27	NA		
			WH	177	136	1.302	32	NA		
			WH	155	100	1.546	40	NA		
			SS	151	92	1.643	40	NA		
			GF	109	341	0.320	17	NA		
			SS	66	527	0.126	15	NA		
			SS	63	1050	0.060	12	NA		
			DF	25	207	0.120	14	NA		
			SS	16	75	0.209	16	NA		
				5754	24739	0.233				

Forestry England

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.19	WEST ENGLAND	Clearfell							04/11/19 to	£
	Stapleton - Marches		DF	719	4256	0.169	16	B6	31/03/20	
			DF	635	4864	0.131	15	B6		
	_		DF	384	648	0.593	28	A4/1		Per tonne
	F52674		DF	87	1162	0.075	12	B6		
			HL	57	1194	0.048	11	B6	Estimated weight	1461 tonnes
			HL	49	86	0.570	28	A4/1		
				1931	12210	0.158				
20	WEST ENGLAND	Thinning							01/10/19	£
	Chase- West Dean		CP	196	2500	0.078	12	B6	to 31/03/20	
			CP	7	108	0.065		A4/1		
	F52690			203	2608	0.078				Per tonne
									Estimated weight	

Forestry England

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

						p	•			· · · · · · · · · · · · · · · · · · ·
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.21	WEST ENGLAND	Clearfell							01/11/19 to	£
	Circuit & Northdown-North Devon		MC	13900	17905	0.776	27	NA	02/11/20	
			MC	3173	17601	0.180	17	NA		
			MB	53	1127	0.047	11	NA		Per tonne
	F52695		MB	35	439	0.080	13	NA		
									Estimated weigh	nt 13849 tonnes
				17161	37072	0.463				

**Forestry England** 

**TENDER FORM FOR STANDING TREES 05 September 2019** 

The sales particulars are a summary of the tariff measurements. For the full tariff details or for viewing please contact the contract manager.

1.22	WEST ENGLAND	Thinning						04/11/19 to	£
	Oversley-Wyre	RC	160	209	0.766	31	B6	28/02/20	
		RC	150	128	1.172	26	B6		
	F52696	NS	55	319	0.172	17	B6		Per tonne
			365	656	0.556			Estimated weigh	nt 288 tonnes

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.23	YORKSHIRE	Clearfell							01/10/19 to	£
	Dalby Steel Burrows		JL	920	676	1.361	37	B6	28/02/20	
			CP	672	682	0.985	33	B6		
			CP	557	471	1.183	36	B6		Per tonne
	F52662		HL	310	1589	0.195	18	B6		
			SP	53	69	0.768	33	B6	Estimated weigh	t 2040 tonnes
				2512	3487	0.720				

Forestry England

**TENDER FORM FOR STANDING TREES 05 September 2019** 

This lot has a Reserved Timber Element (RTE) of 250 tonnes. Refer to General Conditions of Sale in the Catalogue for full details.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.24	YORKSHIRE	Clearfell							01/10/19 to	£
	Dalby Pheasant Hill	5% windthrow	SS	2823	2485	1.136	34	B6	28/02/20	
			SS	879	1016	0.865	33	B6		
			SS	400	326	1.227	35	B6		Per tonne
	F52663		SS	311	883	0.352	22	B6		
			WH	109	148	0.736	29	NA	Estimated weigh	it 3758 tonnes
			GF	79	57	1.381	38	B6		
			JL	45	50	0.900	31	NA		
			LP	20	80	0.250	18	NA		
				4666	5045	0.925				

This lot has a Reserved Timber Element (RTE) of 450 tonnes. Refer to General Conditions of Sale in the Catalogue for full details.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

#### TENDER FORM FOR STANDING TREES 05 September 2019

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERE (EXCLUDING VAT)
.25	YORKSHIRE	Clearfell							01/10/19 to	£
	Langdale Black Holes	50% windthrow	LP	1701	6347	0.268	21	B6	28/02/20	
			SS	1260	3850	0.327	22	B6		
	F52664			2961	10197	0.290				Per tonne
	1 52004			2001	10101	0.200				
	This lot has a Reserved Timber E	lement (RTE) of 350 To	nnes. Refer to						Estimated weig	nt 2445 tonnes
.26	This lot has a Reserved Timber E the Catalogue for full details.		nnes. Refer to							
26	This lot has a Reserved Timber E the Catalogue for full details.	Clearfell		General Condit	ions of Sale	in			01/10/19 to	nt 2445 tonnes £
26	This lot has a Reserved Timber E the Catalogue for full details.		SS	General Condit	ions of Sale	in 0.472	23	B6	01/10/19	
26	This lot has a Reserved Timber E the Catalogue for full details.	Clearfell	SS LP	General Condit 2730 1030	ions of Sale 5779 2821	in 0.472 0.365	23	B6	01/10/19 to	
26	This lot has a Reserved Timber E the Catalogue for full details.	Clearfell	SS	General Condit	ions of Sale	in 0.472			01/10/19 to	

Forestry England

This lot has a Reserved Tiimber Element (RTE) of 450 Tonnes. Refer to General Conditions of Sale in the Catalogue for full details.

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

		LOG DESCRI	PTION		
LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
NORTH ENGLAND	36 cm	500 Tonnes Roadside	4.9 - 6.3 m	09/09/19 to 31/03/20	£
Kielder Main Block	SS	Green Logs			Per tonne
F52709			A number of sites within the this contract.	e main block of Kielder will feed into	
EAST ENGLAND	18 cm	500 Tonnes Roadside	3.0 - 4.9 m	30/09/19 to 31/03/20	£
Thetford Forest	МС	Green Logs			Per tonne
F52655					
CENTRAL ENGLAND	18 cm	300 Tonnes Roadside	3.1 - 3.9 m	30/09/19 to 31/03/20	£
Eakring/Epperstone	МС	Green Logs			Per tonne
F52686					
	NORTH ENGLAND         Kielder Main Block         F52709         EAST ENGLAND         Thetford Forest         F52655         CENTRAL ENGLAND         Eakring/Epperstone	DIAMETER UB AND SPECIESNORTH ENGLAND36Kielder Main BlockSSF52709SSEAST ENGLAND18Thetford ForestMCF52655SSCENTRAL ENGLAND18Eakring/EpperstoneMC	LOCATIONMINIMUM TOP DIAMETER UB AND SPECIESQUANTITY, POINT OF SALE AND CLASSIFICATIONNORTH ENGLAND36 cm500 TonnesRoadsideKielder Main BlockSSGreen LogsGreen LogsF5270918 cm500 TonnesRoadsideEAST ENGLAND18 cmGreen LogsGreen LogsThetford ForestMCGreen LogsGreen LogsF5265518 cm300 TonnesRoadsideCENTRAL ENGLAND18 cm300 TonnesRoadsideEakring/EpperstoneMCGreen LogsGreen Logs	DIAMETER UB AND SPECIESOF SALE AND CLASSIFICATIONLENGTH SPECIFIEDMEAN DBH (CMNORTH ENGLAND36 cm500 TonnesRoadside4.9 - 6.3 mKielder Main BlockSSSSGreen LogsA number of sites within the this contract.F5270918 cm500 TonnesRoadside3.0 - 4.9 mThetford ForestMCGreen LogsGreen Logs3.0 - 4.9 mF5265518 cm300 TonnesRoadside3.1 - 3.9 mCENTRAL ENGLAND18 cmGreen LogsSO TonnesRoadsideKeiring/EpperstoneMCGreen LogsSo TonnesRoadside	LOCATIONMINIMUM TOP DIAMETER UB AND SPECIESQUANTITY, TOTALE AND OF SALE AND CLASSIFICATIONLENGTH SPECIFIEDSTAND DBH (CM)COMMENCEMENT AND COMPLETION DATENORTH ENGLAND36 cm500 TonnesRoadside4.9 - 6.3 m09/09/19 to 31/03/20Kielder Main BlockSSSSGreen LogsA number of sites within the main block of Kielder will feed into this contract.09/09/19 to 31/03/20EAST ENGLAND18 cm500 TonnesRoadside3.0 - 4.9 m30/09/19 to 31/03/20Thetford ForestMCGreen LogsSO TonnesRoadside3.0 - 4.9 m30/09/19 to 31/03/20F52655MCS00 TonnesRoadside3.1 - 3.9 m30/09/19 to 31/03/20EAST ENGLAND18 cm300 TonnesRoadside3.1 - 3.9 m30/09/19 to 31/03/20EAST ENGLANDMCGreen LogsSTON TonnesRoadside3.1 - 3.9 m30/09/19 to 31/03/20

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	NORTH ENGLAND	16 cm	1000 M3UB Roadside	3.0 - 5.0 m 23	09/09/19 to 31/01/20	£
	Eals Cleugh - South Falstone	SS	Green Logs			Per m3UB
	F52702					
2.05	NORTH ENGLAND	16 cm	500 M3UB Roadside	3.0 - 5.0 m 28	09/09/19 to 20/12/19	£
	Tod Sike - Wark	SS	Green Logs			Per m3UB
	F52698					
2.06	NORTH ENGLAND	16 cm	500 M3UB Roadside	3.0 - 5.0 m 27	09/09/19 to 31/01/20	£
	Beacon Hill - South Falstone	MS	Logpoles			Per m3UB
	F52708			To be presented at roadside 20% red logs	e as mixed unsorted 80% green,	

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

September 2019		

LOT NO	LOCATION		LOG DESCRIP			
		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	EAST ENGLAND	14 cm	500 Tonnes Roadside	1.8 - 2.5 m	30/09/19 to 31/03/20	£
	Thetford Forest F52656	MC	Short Green A			Per tonne
2.08	YORKSHIRE Dalby Newclose Pallet F52670	12 cm MC	500 Tonnes Roadside Short Green A	2.1 - 2.5 m 16 Timber within this parcel ma the District.	01/10/19 to 28/02/20 ay come from several sites within	£ Per tonne
2.09	YORKSHIRE Yorkshire Forest District F52675	MC	250 Tonnes Roadside Red Logs	3.0 - 3.7 m 22	01/10/19 to 28/02/20	£ Per tonne

All bids must be made via Forestry England's online e-sales system ( https://england.etimbersales.net ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

LOT NO

2.10

2.11

2.12

NORTH ENGLAND

**Kielder Main Block** 

F52712

			LOG DESCRIPTIC				
т		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION		STAND MEAN DBH (CM)		AMOUNT OFFERED (EXCLUDING VAT)
0	NORTH ENGLAND	14 cm	500 Tonnes Roadside	2.5 - 3.7 m	28	09/09/19 to 20/12/19	£
	Tod Sike - Wark	SS	Red Logs				Per tonne
	F52697						
1	CENTRAL ENGLAND	7 cm	150 Tonnes Roadside	1.7 - 1.7 m		30/09/19 to 31/03/20	£
	Eakring/Epperstone	МС	Posts,Stakes,Rails				Per tonne
	F52687						
	I						

Roadside

3.0 - 3.0 m

A number of sites within the Kielder, Wark, Kershope &

Spadeadam blocks will feed into this contract.

09/09/19 to 31/03/20

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

1000 Tonnes

Chipwood

7

MC

cm

**Forestry England** 

£

Per tonne

LOT NO

2.13

2.14

2.15

**CENTRAL ENGLAND** 

Eakring/Epperstone

F52688

7

MC

cm

	LOCATION		LOG DESCRIPTIC			
г		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
3	NORTH ENGLAND	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m	09/09/19 to 31/03/20	£
	Kielder Main Block	MC	Chipwood			Per tonne
	F52713			A number of sites within th Spadeadam blocks will fee	ne Kielder, Wark, Kershope & ed into this contract.	
1	EAST ENGLAND	7 cm	500 Tonnes Roadside	2.3 - 2.8 m	16/09/19 to 20/12/19	£
	Thetford Forest	MC	Chipwood			Per tonne
	F52659					

Roadside

2.5 - 3.1 m

30/09/19

to 31/03/20

£

Per tonne

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

150 Tonnes

Chipwood

	LOCATION	LOG DESCRIPTION						
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH SPECIFIED	STAND MEAN DBH (CM)	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)	
2.16	EAST ENGLAND	5 cm	1500 Tonnes Roadside	e 2.3 - 2.5 m		16/09/19	to 20/12/19	£
	Thetford Forest F52657	MC	Chipwood					Per tonne
2.17	EAST ENGLAND Thetford Forest F52658	5 cm MC	1500 Tonnes Roadside Chipwood	e 2.3 - 2.5 m		16/09/19	to 20/12/19	£ Per tonne
2.18	CENTRAL ENGLAND Eakring/Epperstone F52685	5 cm MB	   1300 Tonnes Roadsid   Hardwood SRW	e 2.9 - 2.9 m		30/09/19	to 31/03/20	£ Per tonne

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

	LOCATION		LOG DESCRIPT			
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.19	EAST ENGLAND	5 cm	250 Tonnes Roadside	2.3 - 2.8 m	16/09/19 to 31/03/20	£
	Thetford Forest	МВ	Hardwood SRW			Per tonne
	F52660					

All bids must be made via Forestry England's online e-sales system (https://england.etimbersales.net) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry England's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:30 hours on 05 September 2019 unless otherwise notified as set out above.

#### **Forestry Commission**

Forestry England is an Executive Agency of the Forestry Commission. It is responsible for the management of the forests and woodlands owned by the nation. Its objectives include the production and supply of timber for the wood using industry, the conservation of wildlife in its forests and the provision of wide ranging recreation opportunities.